COMPONENTES CANCELA
ITEM| QTD. CODIGO DESCRICAO
1 1 S05015 CJ CORPO COMP CANC CLASSIC AC
2 1 P05022 CHASSIS DE ALUMINIO CANC CLASSIC
3 1 C00779 CHAPA FIXACAO MOTOR CANCELA CLASSIC NEW
4 2 C06240 PA ALLEN CAB CT 6 X 20 RI ET
5 4 C00004 PA ALLEN CAB CL SI 8 X 20 ZB
6 2 C02494 ARRUELA LISA 5/16 ZINC
7 5 C00149 ARRUELA PRESSAO 5/16
8 4 C08086 ARRUELA LISA INOX 1/4"
9 4 C03624 PORCA SEXT AUTO TRAV PARLOCK M6 ZB
10 8 C00089 ARRUELA PRESSAO M12
11 4 C03461 PA ALLEN CAB CL SIMA 12 X 25 ZB
12 1 P01258T CJ EIXO PRINC CANC CLASSIC 268MM (ZINC)
13 2 C05095 ROLAMENTO G6906 2RS GBR/GTOP
14 2 P05024 MANCAL CANC CLASSIC
15 4 C10008 PA ALLEN CAB CL SI MA 12 X 35 ZB
16 2 C01987 PA CAB SX 10 X 50 ZB
17 2 C07427 PORCA SEXTAVADA M10
18 2 P00396 BATENTE CANCELA CLASSIC @26,5MM X 14,5MM
19 1 P01491T SUPORTE CENTRAL CANC CLASS NEW (PINT)
20 2 P04570 CAME GRANDE DE ACIONAMENTO @INT. 1.1/4
21 3 C001108 PA MGP FH MP 5 X 12 AC VC TMA ZB
22 | 10 C00274 PA MQ CAB PN PH DIN TMA 4 x 10 Rl ZB
23 2 C00338 PORCA SEXTAVADA 3/8" ZB
24 2 Cl06010 MG 2604 IR/P1-MICRO INTER. 20A S/ ROD.
25 2 C07312 PA CAB PN PH 4 X 40 RI ZB
26 4 C00341 PORCA SEXTAVADA M4
27 2 C01456 PA CAB PN FE RETA 4 X 30 ZB
28 1 P04037 GRADE DE VENTILACAO DZ DURATA / CANCELA
29 | 12 C00310 PARAFUSO PHILIPS 3,9 X 9,5 ZB
31 1 C03465 PORCA SEXTAVADA M8 ZB
32 2 P04042 GRADE DE VENTILACAO CANCELA CLASSIC NEW
33 6 C06228 TAMPAO DE VEDACAO DA BV TORK
34 4 C00571 ESPACADOR PCI 6,4mm NATURAL
36 1 P01494T PORTA DA CANCELA CLASSIC NEW (PINT)
37 2 P00740-01 CHAVETA 8 X 8 X 35MM (CORTE)
38 1 C07991 FECHADURA CIL ESP LAMINA CL-1501
39 1 C00517 LINGUETA 34 X 15 X 2MM
40 4 C06016 PARAFUSO CMT MQ TLOB SXT FLG M6 x 16 ZA
41 1 C05676 PA ALLEN CAB CL SI MA 10 X 30 RI
42 1 P00719 ACABAMENTO DO EIXO CANCELA CLASSIC NEW
43 1 P01846T SUPORTE BARREIRA SOFT CLASSIC 4,75MM (PINT)
44 2 P01783 TRAVA BARREIRA SOFT
45 8 C06119 PARAF ALLEN CAB CIL M5X12 ZB
46 8 C03591 PORCA M5
47 4 C03685 ARRUELA PRESSAO M5 ZB
48 1 C07672 CABO FLEXICOM 0,35m VERDE/AMAR TERM 5mm
49 1 C01301 SUPORTE DO CAPACITOR COM ADESIVO FEA7802
50 2 C06077 ABRACADEIRA T18L PRETA 202 X 2,5MM
51 1 P01496T SUPORTE DA FOTOCELULA EM ACO (PINT)
52 2 C05039-G PLACA LOGO 175,5MMx77,5MMx0,05MMM GAREN
53 8 C01835 REBITE REPUXO T-306 ZB
54 | 0,142 C00103 CORRENTE P/ DZ CORRENTE 5M RC 41
55 1 C00104 EMENDA P/ CORRENTE RC 41 DZ CORRENTE
56 1 P02044T CHAPEU TAMPA SUP CANC CLASS AMARELO
57 2 C05143 TAMPA PLAST P/TUBO RED 2.1/2" RETA
58 1 C02864 ARRUELA DE PRESSAO MM10 FO
66 1 C10007 PARAFUSO ALLEN C/CAB M8 X 50 ZB
68 1 C01833 SUPORTE FONTE 350W - 2,0MM
69 2 C06002 PARAFUSO PN TORKS TMA M5 x 10
70 1 Cl05543 FONTE DE ALIMENTACAO 28,9V 350W BIV
71 1 A00337-X CENTRAL DC PRIME P/ CANCELA
72 1 A00877-X CARREGADOR BATERIA
73 2 06181 PARAFUSO MQ PN PH ISO MA 3 X 30 RI BC
74 2 C02991 PORCA SX MA 3 CHV 5,5BC
75 1 A07503T CJ MICRO C/CABO CANCELA PRIME

XY
ITEM MODELO | cODIGO DESCRICAO
X 3,30M C01958 MOLA CANCELA CLASSIC FIO 3,70MM
X 4,30M C01959 MOLA CANCELA CLASSIC FIO 4,20MM
Y 3,30M S05014 MOTORR CANCELA CLASSIC DC 3,3M
Y 4,30M S05029 MOTORR CANCELA CLASSIC DC 4,3M

~  KITCABO )

KIT CABO
C1 1 [C09110 CABO FLEX 0,1m PRETO TER GAVETA 6,3 LUVA
C2 1 |C09112 CABO FLEX 0,5m VERM TER GAVETA 6,3 LUVA
C3 1 1C09114 CABO FLEX 0,5m PRETO TER GAVETA 6,3 LUVA
KIT DE INSTALACAO
K1 4 |C00564 |PARABOLT CHUMBADOR CBA 3/8 X 80 (CANC.)
K2 4 |P00481 ARRUELA ESPACADORA CANCELA 50,8MMx6,35V
K3 4 |P00483 |ARRUELA NYLON KIT CANCELAS 25x3
K4 1 |C00828 |PA ALLEN CAB CL Sl 14 X40 RI ZB
K5 1 |C00597 |PA ALLEN CAB CL S| 10 X40 ZB
K6 1 |C02864 |ARRUELA DE PRESSAO MM10 F0
K7 1 |C00478 |PASSA CABO LONGO 3,8mm
K8 1 |P01648T |CONJ.CHAVE DO DEST. DA CANCELA ZINCADO

KIT DE INSTALACAO

“y
'g‘

(<0
-
fe° %"

_—
o

PROJETADO:
FELIPE NERY

: APROVADO: ESCALA:
17/06/2021 CHECADO:

GAREN AUTOMACAO S/A
o nRua Sao Paulo, n° 760, Vila Araceli .
Fone/ Fax: Oxx 14 3407-6639 CODIGO: |FOLHA:|REV.:.| DATA: FOLHA:
CEP: 17400-000 GARCA/SP 17/06/2021| 1/ 2

TITULO:
CANCELA CLASSIC DC

Al




